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SCREENING TEST Series
(Agricultural Engineering) B
Time : 150 Minutes Max. Marks : 150
D003 ¢ 150 D0FS00ew Jwefo ety e ¢ 150

INSTRUCTIONS (‘Oé-‘é’a’mea)
Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.
99) SE08° @) BHe HOoSEIS 85 SroEISow. 9 SIS’ 0, BIrees S@Ssnd® ™
OF S350 ©°0 PIEnS” ITETI Jotsd ELFBLBH.

@

The Test Booklet contains 150 questions. Each question carries 1 mark.

3% Sig50S° 150 EHH. &5, BHDH 1 Srdy, Beronosadsd.

The Test Booklet has three (3) sections, i.e., Section I (General Studies & Mental Ability),
Section II (Agricultural Engineering) and Section III (Agricultural Engineering). Each section
contains 50 questions and each question carries one mark. The question of the Section I i.e. G.S. &
MA are set in English and translated into Telugu. In case of doubt English version will be considered
as authentic version for valuation purpose. The questions of the Section IT & Section ITI are set only
in English as per existing pattern.

B [(5d) SGB0 5o JTTTIT T NEQ T (3506 340 DBk JotrS D), v II (@@5@365
30830000 ) B ¥ 1T (eBse6d 302:000f) G, P8 g 50 FHOW, B8 BF) wl St
5O &5)0. DES 18 BHer oS’ Somth Jchad Boord erSFTe Srre S5 DADHGS. BSETH
S50 2O0Y) JoMEIpE oARNS'D (B3¥) BSrBssur SHTSVH®B. dE 1T DHoak 2ES I &
BHo eHend” &) $GS o SIS 300506 Sorth SoH&DD.

The Test Booklet is printed in four (4) Series, viz. @ The Series, or or or @
is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or or or @ in Part C on side 1 of the Answer Sheet by darkening the appropriate
circle with Blue/Black Ball point pen. '

5% S5 Teotd Syswed” (Series) e [A][B][C][D] s¢snod’® sw@osndss. & sgswes
w2 [B] w2 [C] md [D] w0 @) s By, 550 58 HAFDH Sred’ So@oIndss. 1IN 5§
S50 Bk, 5550 (Series) [A] 0 [B] md [C] 72 [D] 2 355078 3w 28633 39 >§ C Sowk
©0cHE%050 Seronosnds $)E50% 2/wr8 ard Jrowoel HIE’ Sg HY JoSSB.

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

® ® ©©®

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.

o (353 (S50 B0k, SPiH (Series) Snew HFN a8es BPHX FF C & KHgowsPan T8 160003
S0 (SHS B0 P SI0T BewHTHLLH ITEHoTH 76 HDAM & wensoed oY) Solthined’,
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5.

7‘

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue/Black Ball point pen to make heavy
black marks to fill the circle completely. Make no other stray marks. Use of whitener is prohibited.
If used, it will lead to invalidation.

B8 PHD Tl SSrrEsve FS@AEND. @ohd” SOoHH aTrEy IT JIFTD SEs0E BHO
FrooSnds HESHW Sgm HY JoISED. &¥ TIET) IS HESvewH DT, © HErgEsD
508008, SHBBD IO Sgr 0§ JoHLH /S =S Fowo DIy TEIBD. BISEY
10%eD DT, PETIE Ttots IBHOBEPNB. TEIT BIrEE JHS 308oveD.

e.g.: If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
GO0 (5% ), 1B0Pow; 1 8 aTrew (2) YonSSptd o & Eo8 B0 HBOBITD ¢

11 0|0|®|®

Use Blue/Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.

PGS SR D0SErd8 DY 85 ¥g S owoel XyH IrED TESBH EHo8 HireS IS
308005etith. BS DXy, BVYE) GIArACSErED Tods S5 JER) T oD SIS

Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will
lead to invalidation of your Answer Sheet.

& 33e56° B B D3 DoY), TE Sonthid WA b 'S Sowth BHrTrD SGH0 Y, LIS
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Example : 1f the Paper Code is 027, and Roll No. is 956403764 fill as shown below :
aountes : 556 55 027 H0an 5 0. 956403764 00T ($o8 SrdD IS0 DoMHW
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8.

10.

: 5 8

12,

13.

14,

15.

16.

Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.

DErEEs SEsnd” Seronodd ‘Qe;’méﬁ ;‘)55354@;') (Invigilator) G3n%), SoSEIRD 0SS, BEDH
SEDEHD HoSEBY SErES IS’ BEondT ©b $68DoBiD.

DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.

B DSBS S OF 8D 6™, S eSS, Aden Adbesn ™Y, Dodtord, S Babeso
AoDeosn ) BB B Burers S8 $68905e3E.

Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.

PIPEED BESHS” D waren Srtead BessE, Fed, Genth B5 O DD BeeTen SGed I N DT
S1850 $68D08e.

Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
DIEPBBNOR HHDED0P HBoTEs. B ©SBEDoDSS SSorr $0KedoSH.

Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.

38% SE% 500 DPSPD, e S DIrES DN LOBIEY (PWT) HGSW) NG &Y SEREDHIS
(Invigilator) 3%y, $59 (duplicate) $5rgrd S0 (8od SGsw) 38 ST ISy,
Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.

S ool 5955806y, KedglerR Sewdy, 0B, wr s, 385w ™ o densotd JogRE
$BEES0oR 56 Fen&’DE eBBoBt.

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.

sbg Sed epger 385 $rd edy 36 (27 Roww) GossBk. 365 W I SohmedTy
2)004E) SJoHaaEEtd. :

If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

D egd wovsr DeSof/sh Dol FEERE BALBoNNLONE T SHAFIHD DO Bl 5rD
0 eHorh.

Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.

55 55,5 54 Sod® D50 DES” srEd Sard. IS GG Savoes.
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SECTION I

Passage for questions no. 1 to 3 :

Lalitha, Raja and Rama availed the discount offers
during a Big Diwali sale. They purchased one item
each with the highest discount being ¥ 125. The
blue coat was not purchased by Lalitha. Rama was
happy to get a discount of ¥ 90 on the item bought
by her. The discount on the red item was more than
that on the pillow covers. The discount on trousers
was not T 50 and the trousers were not bought by
Lalitha or Raja. One of the items was green in

colour,

Answer the following questions :

1.  What was the item bought by Rama ?
(1) Coat
(2) Pillow Covers
(3) Trousers
(4) Do not know

2. How much discount did Lalitha get ?

(1) <126
2 T90
(3) ¥50
(4) Do not know
3. What is the colour of the item purchased by
Raja ?
(1) Blue
(2) Red
(3) Green
(4) Do not know

(4)

?055 I
Lﬁs’o’ea;ix {_5{3 50.1 508 3:

0d8, T DO B G EFBY eNyEsns’
cond P SPPHeo T, T S8 IR
Fonh dakn 05 2808 oHodS €8 IS
orowd T 125. 08 D Gord Sew T8, % §%)
S BT 90 vond ododSol®d e
$So8Ho008. NP Bork SWH 0HoDI Tond
doth Hdweo D& ©HoIS ToNS KT ¥,
Fs0en DS ©HoDD TroNS T 50 S AN 0
s oer T oew T3S, T8 Sped a8
s 3% Goivs” &od.

$od PHeDH ISrgrSo Ao :

1 55 ©%) 5599 O3 ?
(1)
(2)
3)
(4)

Sen

8o Kdeven
F50ew
B8aHeH

2. odSH Jod Trond ©Hodod ?

(1) <125
(2) T90

(3) T 50

(4) BdaD

oo §74%) S orH ded ?
(1) 8 Gord
(2)
(3)

(4)

S0
835 2.31:5‘]
2o
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4,

If the data based on workers salary is as 2500,
2700, 2600, 2800, 2200, 2100, 2000, 2900,
3000, 2800, 2200, 2500, 2700, 2800, 2600 and
number of classes desired is 10, then the

width of the class interval is

(1) 400
(2) 300
(8) 100
(4) 200

Difference of mode and mean is equal to

(1) 3 (mean — median)

(2) 2 (mean — median)

(3) 3 (mean —mode)

(4) 2 (mode — mean)

The length of the coastline of Andhra Pradesh
in the nearest whole number of kilometres

is

(1) 924
(2) 954
(3) 974
(4) 984

(5)

5.

(D]

3078 £ DStNwes 2500, 2700, 2600,
2800, 2200, 2100, 2000, 2900, 3000, 2800,
2200, 2500, 2700, 2800, 2600 HB SHONS
SSHe Yop; 10 wond, SEKO ©oBEHN
dos ?

(1) 400
(2) 300
(3) 100
(4) 200

FOFESD DO Hifewe B¢y PEDn e
308 orRE BIHS0

(1) 8 (Srew ~ SoggHssw)
(2) 2 (Rren - SogrSSw)
(3) 8 (dew — TOEESD)

@) 2 (ersousso - BKw)

S0 BT Susn Bogy, T, WS
(8 Eod 7°¢38° 3B Sowy)

(1) 924
(2) 954 e
(3) 974
(4) 984
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7

What percentage of the country should be
covered with forests in order to maintain the

ecological balance ?
(1) 23%
(2) 31%
(3) 33%
4) 47%

What were the parameters adopted by Suresh
Tendulkar Committee to estimate poverty in
India ?

(1) Money required for stipulated minimum

calorie intake

(2) Spending on transport and housing

(3) Spending on food, education, health,

electricity, clothing and footwear

(4) None of the above

What is the guiding principle behind

establishment of NITI Aayog ?
(1) Collateral federalism

(2) Competitive federalism
(3) Compulsive federalism

(4) Cooperative federalism

(6)

7.

[0]

Sorste Do) JoSEE BEsnS” Jod
TESD enEned S5Hwd gowd ?

(1) 23%
(2) 31%
3) 33%
(4) 47%

(1) 59335 oghs 550 SHOdS FP5
(@) Orer SoBa KyS $58 Flo ptye

(3) efos», dov, ebrEe, s o,
2&00 B0 FEEe TR0 PLyen

(4) 38 0 s

DB edrf FhoiiEsn WY Ko WrPEHE
NEZOBED oed ?

(1) eodoBehs DSy 8
(2) 503056&5 0078dy "nD‘:)g
(3) SDRI0 gy KD‘D_Q

4) STSE S5rg I

-}
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10.

11.

12.

13.

What is the target date for implementation of
GST ?
(1) 1% January, 2017
(2) 1% April, 2017
(3) 1% April, 2018

(4) 315 January, 2017

What is the reason for celebrating 7" August

as National Handloom Day ?
(1) Swadeshi Movement
(2) Civil Disobedience Movement
(3) Ahmedabad Mill Strike

(4) None of the above

Which party is called as the Grand Old Party ?

(1) The Republican Party
(2) Indian National Congress
(3) Conservative Party

(4) Communist Party of India

Which year was declared as the International
Year of Pulses by the UN General Assembly ?

(1) 2015
(2) 2016
(3) 2017
(4) 2014

(7)

10.

11.

12,

13.

(D]

2.05.60. oo IEDLH IFoswds of
369 & god T3’ KBoHS

(1) 1 538, 2017

(2) 1296, 2017

(38) 1la@9F, 2018

(4) 31 m5508, 2017

8o DI OTSEse ey 3L
BHHTLD Ko sOnsn & $od T8

80BN
1) DBE eesgonm
(2)  TRIFQOoT oSN
3) esorerd ooy $3y

4) 2% DEYASY W Y

D cresfoth B0 Ry @08 >§” (GOP)
58°) 066" & @b TS° 100080 |

(1) 03DSS >0
(2) grds rdad sTo@Rv
(3) 3,035 8

(4) GOS0 ESorR 8

% 808 TS D HoSHESNSH eosTdad
SHpbdoive JoSSESoT ¥ Towy Hd
B0k, Fe8es I DB ?

(1) 2015 E
(2) 2016 °

(3) 2017

(4) 2014
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14.

15.

16.

17.

What is the symbol of the Democratic Party of
USA?

(1) Horse

(2) Elephant
(3) Donkey
(4) Pig

In the Brexit referendum, the vote share of the
group favouring exit and the group favouring

remain was in the following ratio ?

(1) 56:44
(2) b57:43
(3) bB58:42
(4) 59:41

In Paralympics, 2016, which of the Indian
athletes broke the World record ?

Mariyappan Thangavelu
Devendra Jhajharia
Deepa Malik

Varun Singh Bhati

Who is the winner of Nobel Peace Prize for
2016 ?

(1) Juan Manuel Santos

(2) Salvador Sianchez Cerén
(3) Carlos Antonio Losada

(4) Timochenko

(8)

14.

15.

16.

17.

[0]

5 808 TS eBds Vool TrPEHed’d
Serrc¥ 8 (Democratic Party) G0,
Dismniso Bewysn /KB

(1) Hoggsm
(2) IO
(3 MG
4) $08

& @00 JRmed, @S ©erderod
55508 Dot HHod ahLHD TTod
S0k TAE%S SoGTES BEarErEne 850y
8.4 8D BooKeD

(1) 56:44
(2) 57:43
(3) 58:42
(4) 59:41

D odod Eo SE ESo% OTER™
DScroroe 9028y 2016 & wbKdoTE &
Bod TE° HQosioth

(1) S80Sy BoKden
(2) B0 EPSOaLr
(3) &> 5088

(4) S5 Hoh gred

TBS 708 ISV 2016 VOSHYTBRID
D568 & |2oBT0S BFROTD ?

(1) od Srsopss 708D
(2) o’ FodE VB
@) =D Aol Ao &'
(4) S3-BFY

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click m



EEA/STA/113

18.

19.

20.

21.

What is a light year ?

(1) A year which passed on without
difficulties
(2) Year dedicated by UNO to “light”

(3) Time measured in astronomical units

(4) Distance travelled by light in one year

Deficiency of which of the following results in

goiter and cretinism ?

(1) Folic Acid

(2) Vitamin A

(3) Iodine

(4) Zinc

World Health Organization recommends

exclusive breast feeding from the date of birth
of the infant up to the age of

(1)
(2)

3 months
6 months

(3) 9 months

(4)

1 year

Natural ripening of climacteric fruits (like
apple) occurs due to

(1) release of ethylene and increased rate of
respiration

(2) release of ethylene and decreased rate of

respiration

(3)

release of acetylene and increased rate
of respiration

(4)

release of acetylene and decreased rate
of respiration

(9)

18.

19.

20.

21.

(0]

508 BosB o S IV ?
(1) s38we0 BHoc KEDS a8 SoNS 55w

(2) o5y S 5088 @odd D
BOBSBYE5

(3) HHOHINSH  TeoHLH  SITBrRSG
DR ($5re00

4) o8 DoSEWINE 08 (Hatredoid
5850

5 @08 TE IV By, B Sod mowed
(Fosdd) wbaks @e3d%y (koo
&5500) eiTryien JoE0oBR

(1) 8 esysw

(2) v A

(3) »Brde

(4) R0o§

SSerS BHPH HEISHEDE Iy HrkBwe
S5% SSo50 S o FSWoLIOT D0
sB; vog Mo DG & God TS
KHBoB®

(1) S0t Srdsoe S8%

(2) et SrESw0e SEH

3) Sdd JrdSve ST

(4) 2.5 BOBS SN SED

850368 Sogy (ehSB0edd) & Eod TE
I @O Hidres IS T
1) 3OS dHse OO DOAD T2 o

303

(@) 38dS Dse Hdae §HB0DS TG
o S0

@) b5 dSe Hda» DOAS T
Bah Ses

(@) JbedS ose B e30d

FgSab Sod
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22.

23.

24,

25.

26.

Scramjet uses the following fuel :
(1) Hydrogen

(2) Aviation fuel

(3) White Kerosene

(4) Butane

On which date was the Quit India Movement
started ?

(1) August 8,1942
(2) August 8, 1943
(3) January 26, 1942
(4) January 26, 1943

Who is the founder of Arya Samaj ?
(1) Swami Vivekananda

(2) Raja RamlMohan Roy

(3) Swami Dayanand Saraswati
(4) Gopal Krishna Gokhale

Who sang Vande Mataram at the session of
the Indian National Congress in 1896 ?

(1) Sarojini Naidu

(2) Bankim Chandra Chatterjee
(3) Ravindra Nath Tagore

(4) Rahimtullah M. Sayani

Which of the following was not founded by
Dr. B. R. Ambedkar ?

(1) Deccan Education Society
(2) Samaj Samata Sangh
(3) Peoples Education Society

(4) Depressed Classes Institute

0)

22,

23.

24,

25.

26.

[o]

& 8 T D 3oHsw EHRSE’
GRdriod 2t ol

(1) &&=

(2) DIIE ZOFISW

8) Bg BT

4) 283

P58 FSoEEEsnE & God TS I
BI50S 58 ¥ Bod IFHI WoBYSH
(3585 zobarr) JseITed

(1) e 8,1942

(2) e 8,1943

(3) =330 26,1942

(4) @550 26, 1943

6y ISresuD FHOIITH N6 & Eod
:08° 1BoSKO

(1) gd IS0

(2) T o TS ook

(3) D SISO DG/

4) Ao 53 Fed

1896 & Sodsrss Aody wod edad
sToO@e
@08 3°68° 1HBosIots

(1) - S6°8D e

(2) wodD o $ed

@) Do =& o

(4) Birofg . O

5 ob T soges’ 4 § D.«b.
eﬁoﬁcﬁzﬁ s 3;3305)02&1)0&5@

(1) 8% dog Soy

(2) &SSre: 3o dosodw

@) B ooy oy

(4) e©errds ST ;5;:3:@;
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217.

28.

29.

30.

The words ‘Satyameva Jayate’ in the State
Emblem of India, have been adopted from
which one of the following ?

(1)
(2)
(3)
(4)

Brahma Upanishad
Mudgala Upanishad
Maitreyi Upanishad
Mundaka Upanishad

After how many years, do one-third of the
members of the Rajya Sabha retire ?

(1)
(2)
(3)
(4)

6 years
3 years
5 years

2 years

Out of the bills given below, with regard to
which bill, can the President neither return
nor withhold his assent ?

(1)
(2)
(3)
(4)

Defence Bill
Money Bill
Law Bill

Financial Account Committee Bill

Which is the first Indian State to set up
‘Happiness Department’ ?

(1)
(2)
3)
(4)

Madhya Pradesh
Sikkim
Goa

Tripura

44

27.

28I

294

30.

[D]

D80S eond’ o SEswe & $od TIE
33 Hod (frod 28 rdad ArEnd
SrooBET

(1
(2)
(3)
(4)

(s SIS
S0osE°HASSE

DOBESISSE
S50058%5DNS

25638 Swrfode ol ThesNy Sghen e
Bobd 2E)S2ES TIE AR JoSEE SwoH
250 BE5D DBSoes DK

(1) 6 DoSByBSwe
3 OIS B0
5 DoISOhww

2 éoéé‘aﬁmm

B o HFIdS 3 Degd IS oS
BP0t ™, SIrEsn APowosE FHe
o) BOHBK

(1) &Feo Dex
(2) (@55 Dey
(3) T5oD i)@g

&325 Kegro¥ Do ey

‘9%08 JeTiSarii Bl ;o D rEdad
oG DEYPASE & §od TV 1HYotHID

1) gy BB
(2)
(3)

(4)

080 .
el
GO
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31.

32.

33.

34.

*(8) Ganga, Yamuna and Hooghly

How many sectoral missions are established |31.
by the Government of Andhra Pradesh as part
of the mission based developmental strategy ?

L A
(2) 10
3) "8
4 7

32,
What is “CORE” in CORE Dash Board ?

(1) Control Orbit Reentry Exercise
(2) CM Office Real Time Executive
(3) Central Organization Reform Effort

(4) Central Organization for Rural
Electrification

33.
The Indo-Gangetic plains, also known as the

Great Plains, are large alluvial plains
dominated by which of the three main rivers ?

(1) Ganga, Yamuna and Gandaki

(2) Indus, Ganga and Brahmaputra

(4) Ganga, Kosi and Gandaki

34.
In terms of proven Coal reserves, the position

of India amongst the countries of the World is

® 1
@ 3
@ 5
@ 7

[o]
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35.

36.

317.

38.

Which recent International agreements have a
bearing on Disaster Management ?

(1) Sendai Framework
(2) Sustainable Development Goals
2015 - 2030

(3)
(4)

Paris Agreement on Climate Change

All of the above

At which stage of disaster management cycle,
would “response” be the main activity ?

(1) Pre-disaster
(2)
(3)

(4)

Disaster
Post-disaster

Devastating

As per the High Powered Disaster
Management Committee Report, 2001, in
terms of vulnerability, an L2 type indicates
manageability with resources at

(1)
(2)
(3)
(4)

Village level
Taluk/Mandal level

District level

State level

What is “The Limits to Growth” ?
(1)
(2)

Limits set by Society on growth

Limits set by
growth

Industry Cartels on

(3) A 1972 book on computer simulation of

growth with finite resource supplies

Government’s
growth

(4) inability to improve

(13)

35.

36.

37.

(1

(0]
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(3)

(4)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




EEA/STA/113

39.

40.

41.

42,

What was the theme of World Environment
Day, 2016 celebrated on 5% June ?

(1) “To prohibit illegal trade of threatened”

(2) “Seven Billion Dreams; One Planet;
Consume with Care”

(3) “Small Islands and Climate Change”

(4) “Think, Eat, Save”

What is the period for which Hyderabad shall
be the common capital of the states of Andhra
Pradesh and Telangana as per Section 5 of the
AP Reorganization Act, 2014 7

(1) 10 years
(2) Not exceeding 10 years
(3) Above 10 years

(4) None of the above

The number of organizations included in the
xth Schedule of the AP Reorganization Act,
2014 as on date is

(1) 142
(2) 135
(3 112
(4) 107

Who heads the Apex Council for supervision of
functioning of Godavari and Krishna River
Management Boards ?

(1) Governor of AP & TS
(2) Prime Minister of India

(3) Minister of Water
Government of India

Resources,

(4) Chairman, Central Water Commission

(14)

39.

40.

41.

42.

[o]
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43.

44.

45.

46.

What is the FRL (full reservoir level) of the
Polavaram project ?

(1) 100 feet
(2) 1835 feet
(3) 150 feet

(4) 170 feet

As recommended by the 14" Finance
Commission, the primary route for transfer of
resources from Centre to States shall be
through

(1) Devolution of taxes
(2)  On the basis of population
(8)  On the basis of economic backwardness

(4) None of the above

Which one of the below is not one of the most
important components of Green Revolution ?

(1) HYV seeds
(2) Chemical fertilizers
(3) Irrigation facilities

(4) Credit facilities

The focus of “Make in India” programme is on
how many sectors 7

(1) 12
(2) 25
(3) 36
(4) 50

{15 )

43.

44,

45.

46.

[0]
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(3) 36

(4) 50
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417.

48.

49.

50.

PMKVY means

(1) Pradhan Mantri Krishi Vikas Yojana
(2) Pradhan Mantri Kaushal Vikas Yojana
(3) Pradhan Mantri Karmik Vikas Yojana

(4) Pradhan Mantri Kamkaj Vikas Yojana

Archimedes : Buoyancy :: Newton : ?
(1) Apple

(2) Principia

(3) Gravitation

(4) Machine

Observe the diagrams below and state which
number on the dice is opposite to 6 :

BOBE

2 2
3 1
4 3

If ELEPHANT is
DELICATE is

LSLWOHUA, then

(1) KLSWPJHL
(2) KLSPHJAL
(3) KLSPJHAL

(4) KLSHPAJL

(16)

47.

48.

49.

50.

[®]

PMEVY o5 35 & $08 T8 Sedifotd
(1) S5 2o@ 5 IS HESI0
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(20 2
{8y 1
(4) 3

ELEPHANT 058 LSLWOHUA ©oNd,
DELICATE e9:5058 5570 ?

(1) KLSWPJHL

(2) KLSPHJAL

(3) KLSPJHAL

(4) KLSHPAJL
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SECTION 11 56. The dominant soil order in India is
(1) Vertisols

51. This soil structure is common in sub-surface of

alkali soils : (2)  Alfisols

(1) Spheroidal (3)  Entisols

(2) Blocky (4) Inceptisols

(3) Crumby

(4)  Columnar 57. The clay enriched sub-surface horizon is called
52, The net negative charge of colloidal complex is i)+ Albie

more at pH (2) Argillic

(1) 3:0-50 (3) Cambic

(2) bB0-65 (4) Oxic

@ T70-80

(4)  Not changed with pH 58. This textural class is comparatively coarser :
53. The chemical reaction involved in nitrogen (1)  Silty clay loam

fixation is (2) Silty loam

(1) Oxidation (3) Sandy clay

(2) Deamination (4) ISilty clay

(3) Nitrification

o) Bedudien 59. Internal drainage is the common problem in
54. Laterite soils belong to the order these soils :

(1) Alfisols (1) Deltaic alluvium

(2) Oxisols (2) Coastal sands

(3) Spodosols (3) Black cotton soils

(4) Inceptisols (4) Red loam soils
55, Atterberg’s limits are related to the following

soil property : 60. Bulk density is likely to be less in these soils :

(1) Structure (1) Orga:ni_c

(2) Plasticity : (2) Red

(3) Density (3) Sandy

(4) Black
(4) Strength
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61.

62.

63.

64.

The velocity of a fluid in a pipe of diameter D
is V. The pipe is connected to another pipe of
diameter 2D. Reynolds number in the pipe of
diameter D in relation to the pipe of diameter
2D is
(1)
(2)
(3)
(4)

Double
Four times
Half

Same

The part of a refrigeration unit in which the
refrigerant changes from vapour to liquid is
called

(1)

Evaporator

(2) Compressor

(3) Condenser

(4) Throttle valve

chart is a
representation of which properties of air ?

Psychrometric graphical

Chemical

(1)

(2) Aerodynamic

(3) Hygroscopic

(4) Thermodynamic

Logarithmic mean radius of a pipe in relation

to its arithmetic mean radius is always

(1) Smaller
(2) Greater
(3) Equal or smaller
(4) Equal or greater

(18)

65.

66.

67.

68.

69.

(o]

Air at 40° C and 50% RH has a wet bulb
depression of 10° C. If the relative humidity
decreases to 40%, the wet bulb depression will

(1) Increase

(2) Decrease

(3) Remain constant

(4) Follow no definite trend

Regeneration is economical when product is

(1) Heated
(2) Cooled
(3) Heated and cooled
(4) None of the above

The dimensions of thermal diffusivity are

(1) MLT2
(20 MOLT
(3), M7LT

(4) None of the above

Freezing temperature of brine is

(1) Lower than pure water

(2) - Higher than pure water
(3) Same as pure water
(4) Can’t say

Which of the following mineral particle size(s)
is classified as silt according to ISSS ?

(1) 0:05to0'1mm

(2 0002 to 0-05 mm
(3) 0-002to 0:02 mm
(4) None of the above
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70.

71.

72.

73.

74.

75.

(19)

Maize is a 76.
(1) Soil maintaining crop
(2) Soil building crop
(3) Soil depleting crop
(4) None of the above
Class IV type lands are
(1)  Suitable for cultivation
(2) Not suitable for cultivation
(3) Partly suitable for cultivation 77.
(4) None of the above
Length of the Surveyor’s chain is
(1) 33ft.
(2) 66 ft.
(3) 100 ft.
(4) 150 ft.

78.
Soil degradation takes place due to
(1) Glacial erosion
(2) Geologic erosion
(3)  Accelerated erosion
(4) All of the above
Darcy’s Law is valid for
(1) Laminar and turbulent flow
(2) Turbulent flow 179.
(3) Laminar flow
(4) Transient flow
A refrigerant vapour is to be condensed inside
a shell and tube heat exchanger using water
as the cooling medium. The water should flow | g0,
through &
(1) Shell side of the heat exchanger
(2) Tube side of the heat exchanger
(3) Any of (1) and (2) above
(4) None of the above

= {1

(0]

Fluids which become more runny and their
apparent viscosity decreases with time as they
are stirred, are known as

(1) Pseudoplastic
(2) Dilatant

(3) Thixotropic
(4) Rheopectic

Sun’s radiation corresponding to that of a
black body temperature is about -

(1) 5000°K
(2) 6000°K
(3) 7000°K
(4) 14000°K

In a heat exchanger, the rate of heat transfer
from the hot fluid to the cold fluid

(1) Varies as the square of the area

(2) Varies directly as the area and its
LMTD

(3) Directly proportional to LMTD and

inversely to the area

(4) None of the above

Slump test is used for measurement of
(1)
(2)
(3)
(4)

Hardness of concrete
Plasticity of concrete
Elasticity of concrete
All of the above

Natural convection is associated with
Prandtl number only

(2)
(3)
(4)

Reynolds number only
Grashof number only

Nusselt number only
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81. The ratio of water stored in the root zone of|86. At field capacity, soil moisture tension of

the plants to water delivered to the field is sandy soil is approximately equal to
termed as (1) 0-1bar

(1) Water application efficiency (2) 1-0bar

(2) Water storage efficiency (3) 10 bar

(3) Water distribution efficiency (4) None of the above

(4) Water use efficiency

87. One ton of refrigeration is equivalent to the

82. The ratio of the volume of voids to the total heat required to melt one tonne of ice in
soil volume is called (1) 6h
(1) Void ratio (2) 12h
(2) Porosity (3) 18h
(3) Dry bulk density (4) 24h

(4) Wet bulk density

88. Evapotranspiration in a crop field surrounded

83. Penman method is used to compute by dry fallow land will be higher than that
(1) Consumptive use of crops surrounded by vegetation due to
(2) Potential evapotranspiration of crops (1)  conduction of heat
(3) Water requirement of crops - (2)  oasis effect
(4) Irrigation water requirement of crops (3) clothesline effect

(4) convection of heat

84. Most cereal foods contain mainly
(1) Proteins 89. For a watershed, the universal soil-loss

(2) Fats equation computes

(3) Starches
(4) Vitamins

(1) annual runoff
(2) average annual soil loss
(3) erodibility factor

85. Quicksand condition is created due to (4) average annual rainfall

(1) frictionless nature of soil ) >
90. The porosity of sandy soil usually ranges from

(2) low value of cohesion of soil L - (1) 30to35%
(3) upward seepage force greater than (2) 35t050%

submerged weight of soil (3) 40 to 60%
(4) downward seepage pressure (4) 50 to60%
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91. The indicator plant used for determining the |[96. The element responsible for dispersion of
permanent wilting percentage is particles in soils is
(1) Wheat (1) Manganese
(2) Safflower (2) Potassium
(3) Sunflower (3) Sodium
(4) Paddy (4) Calcium
= When Hhe S0l Slttnd” ok raital 97. The relative mobility of this ion is least in soil
inadequate during the growing season to system :
support healthy crop growth to maturity, it is (1) Magnesium
called
(2) Silicon
(1) Metrological drought
> ¥ (3) Aluminum
(2) Hydrological drought
(4) Iron
(3) Agricultural drought
(4) None of the above
98. This is an abundant group of rocks on the
surface of the Earth’s crust :
93. Soil strength is determined by
(1) Igneous
(1) Penetrometer ;
(2) Sedimentary
(2) Micrometer ¢
(3) Metamorphic
3) Hydrometer
(3) y (4) Organic
(4) Dynamometer
94. Lysimeter is used to measure 99. The mechanically formed sedimentary rock is
(1) Infiltration (1)  Bauxite
(2) Evaporation (2)  Sandstone
(3) Evapotranspiration (3) Halite
(4) Vapour pressure (4)  Graphite
95. The dominant cation in most of the soils is 100. This is an accessory mineral :
(1) Sodium (1) Microcline
(2) Potassium (2) Biotite
(3) Calcium (3) Quartz
(4) Magnesium (4) Magnetite
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101. Disc type furrow openers are especially suited

102.

103.

104.

105.

to

(1)
(2)
(3)

(4)

A power tiller is most suited for rotary

cultivation because

(1)

(:22.)

SECTION III

Stony and root infested soils
Poorly prepared bed in trashy soils

Hard and sticky ground with
considerable amount of debris and
mulch

All of the above

107.

It generates negative draft

(D]

106. The use of a pressurized radiator cap in

forced-circulation water cooling system in

tractor engines helps in

(1) reducing the evaporation losses

(2) increasing the engine-operating
temperature

(3) increasing the boiling temperature of
water

(4) increasing the radiator-cooling capacity

The common type of fertilizer metering

mechanism used on animal-drawn seed cum

(2) Its traction requirement is low

(3) It provides high degree of soil
pulverization

(4) All of the above

The most used and least efficient power outlet
of a tractor is

fertilizer drills is

(1) star-wheel feed

(2) Auger

(3) Stationary opening

(4) Edge cell vertical rotor

. The firing order of 4-stroke 4-cylinder engine

is

(1)
(@)
(3)
(4)

If the travel speed of a tillage tool is increased,
the draft will

(1)
(2)
(3)
(4)

The penetration of animal-drawn disc harrows

can be increased by

(1)
(2)
(3)
(4)

Power take-off shaft in the front
Drawbar in the rear
P.T.O. in the rear

None of the above

109.

Increase linearly
Decrease linearly
Increase quadratically

Decrease quadratically

_increasing the disc angle e
decreasing the tilt angle
adding more dead weight
All of the above

(1)
(2)
(3)
(4)

Angle between centre line of kingpin of tractor

and vertical line is called
(1) Tilt angle

(2) Camber angle

(3) Caster angle

(4) All of the above

(1)
(2)
(3)
(4)

110. Jointer and Coulter are the parts of

Disc plough
Harrow plough
Indigenous plough
MB plough
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111.

112,

113.

114,

115.

The discharge rate of drip emitters usually
ranges from

(1) 2-10 liters/day
(2) 2-10 liters/hr
(3) 2-10 liters/min
(4) 2-10 liters/sec

Sprinkler irrigation is recommended in
(1)
(2)
(3)

Highly undulating area
Soils having high infiltration rate

Areas where irrigation source is a

tubewell

(4)  All of the above situations

The soil property for good ground water yield

18

(1)
(2)
(3)
(4)

Porosity
Effective size > 0-1 mm
Uniformity coefficient > 3

Uniformity coefficient < 2

Vertical interva.l' (VI) of bench terrace for a
vertical cut is given as

(1) (100S)/W

(2) (100W)S

(8) (100/(WS))

(4) (WS/100)

Mole drains are suitable for
(1)
(2)
(3)
(4)

Very coarse soil -
Medium coarse soil
Sandy loam soil

Fine texture soil

(23)

[0]

116. Hydraulically most efficient cross-section of an

117.

118,

119.

120.

open channel is

(1) Triangular

(2) Rectangular
(3) Semi-circular
(4) Trapezoidal
Sediment yield is the

(1) . Total soil loss from an area

(2) Product of gross erosion and delivery

ratio

(3) Both (1) and (2)

(4) None of the above

Chute spillway is used in control of a drop of
(1) 0-3m

(2) 1-4m

(8) 2-4m

(4) 3-6m

Soil loss in geologic erosion is

(1) Less than accelerated erosion

{2)  Greater than accelerated erosion

(3) Medium

(4) None of the above

Self priming centrifugal pump has an impeller
of the following type :

(1) Backward curved vane impeller

(2)
(3)
(4)

Radial vane impeller
Forward curved vane impeller

Combination of radial and forward
curved vane impeller
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121.

122.

123.

124,

125.

Toe-in and toe-out are related with

(1) Front axle of tractor

(2) Rear axle of tractor
(3) Tractor steering
(4) Transmission system

In the Rational formula Q = 0-0028 C.LA. I is
the intensity of rainfall in

(1)
(2)
(3)
(4)

mm per hour
c¢m per hour
m per hour

cm per minute

Separation of liquids from solids by the
application of pressure is known as

(1)
(2)
(3)
(4)

Extraction
Expression
Filtration

Leaching

In size reduction of fine powders, which of the

following laws is more applicable ?
(1) Kick’s Law
(2) Rittinger’s Law
(3) Bond’s Law

(4) All of the above

The percentage of bran received from paddy is

1 5 Sl
(2) 10
3 15
(4) 20

(24)

(o]

126. Increasing the cylinder speed results in

127.

128.

129.

130.

(1) Increasing the threshing efficiency

(2) Reducing cylinder loss
(3) Increasing seed damage
(4) All of the above

In a rubber roll paddy sheller, the direction of
rotation and peripheral speeds of the rollers
are respectively

)
(2)
(3)
(4)

Same and equal

Same and different
Opposite and equal
Opposite and different

In dry milling process of pulses, prior to
treatment with oil, the following operation is

done :

(1) Conditioning
(2) Grading

(3) Pitting

(4) Scalping

In case of intermittent drying, total drying

time reduces as exposure time

(1) Increases

(2) Decreases

(3) No effect

(4) None of the above

Generally temperature in multiple effect

evaporators will in subsequent effects.

(1) Decrease

(2) Increase

(3) Remain constant
(4) Cannot say
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131.

132.

133.

134,

135.

Theoretically, the way(s) to increase cyclone
efficiency when particle size reduces from
10 micron to 5 micron diameter is/are

(1)
(2)

By increasing the entrance velocity

By increasing the length of cyclone

(83) Changing the temperature in the
cyclone
(4) Both (1) and (2)

Milk and fruit juice are deaerated before tﬁey
are allowed to flow through the pasteurizer.
This is done in order to

(1)
(2)
(3)
(4)

reduce fouling of pasteurizer
increase rate of heat transfer
reduce oxidative deterioration

reduce microbial load

Thermal vapour compression is used in
(1)
(2)
(3)
(4)

Evaporator
Homogenizer
Pasteurizer

None of the above

The specific gravity of skimmed milk is
(1)

lower than whole milk

(2) same as whole milk
(3) higher than whole milk
(4) same as water

Centrifugal discharge is used in

(1) _bek conveyor

(2) chain conveyor

(3) screw (auger) conveyor
(4) bucket elevator

{25)

136.

137.

138.

139.

(o]

The removal of few large particles in an initial

process is

(1) Scalping
(2) Cleaning
(3) Grading

(4) Sorting

Disc separator separates materials on the

basis of

(1) Length
(2) Width

(3) Weight
(4) Shape

For biological materials, the relationship
between EMC and RH was given by

(1)
(2)
(3)
(4)

Janssen
Rankine
Henderson
Chung Fast

In ball mill, the size of food grains is reduced
due to

(1)
(2)
(3)
(4)

Crushing
Shearing
Impact

All of the above

. In a godown extra space for alleyways for

inspection and disinfection of stacks is
provided which is generally about

(1) 30%

(2) 20%

(8) 5%

4) 1%
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141. In stanchion barn, the cows are housed and

142,

143.

144.

145.

milked in

(1) different buildings
(2) open space

(3) same buildings

(4) None of the above

In deep litter poultry house, the depth of litter

in centimeters should be

(1) 15-20
(2) 20-25
(3) 10-15
(4) 30-40

Herring bone is a
(1) Milking parlour
(2) Fencing

(3) Barn
'(4) All of the above

The velocity required to operate a windmill is

r'nore than
(1) 5kmph
(2) 10 kmph

(3) 5 miles per hour

(4) 10 miles per hour

The main constituent of biogas is

(1) Methane
(2) Ethane
(3) Butane

(4) Carbon dioxide

(26)

147.

148.

149.

150.

[o]

146. In a floating type biogas plant, the gasholder

is made of

(1) Metal

(2) Wood

(3) Cement and Bricks

(4)

All of the above

The gas production per unit volume of digester

capacity will be maximum when the diameter

to depth ratio of digester will be in the range

of

(1)
(2)
(3)
(4)

0-66 to 1-00
0-75 to 1-20
0-85 to 1-30
090 to 1-40

The wet process of biomass digestion involves

(1)
(2)
(3)
(4)

Pyrolysis and Gasification
Hydrogenation and Liquefaction
Liquefaction and Pyrolysis

Anaerobic digestion and Fermentation

Tilt angle in a disc plough varies from

(D
(2)
(3)
(4)

5°— 10°

10° - 15°
15° — 25°
25° - 30°

Increasing length of land side of a one bottom

right hand mould board plow will

(1)

(2)
(3)
(4)

Increase the amount of offset on the
tractor

Decrease the amount of offset
Have no effect

Can’t say
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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